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— i AL | HE# R3 R7 |FFsh MR ERICET AHEIEEE1/I) YAt E— 60 [t/B 130 0 130 130,
—M=Er AL | RN | R4 R8 |F4ET RTUTIVIY A IVHERERRER YAt s8— 27 |t/H 157,718 0 157,718 157,718
—MR=E At | BENE | H0 | R6 |HET BEEMER R AR H 500 |t/H 0 38,573 38,573 38,573
— i At | AIR R3 R8 |#iETh IRILF—EUREBEEYMIEEER(1/3) ZHBEEIE t/A 0 25,916 25,916 25,916
— i At | KERAFF Ri R6 |REHHHERBCERERMES |HEREHCETIHEIIESEE0/) T )LF—ERE B AR Y 260 |t/H 6,343 A 3018 3,325 3,325
— i At | £ER R3 R6 |HILET BB BRHEE DABERHFORBFERABRREE 27 | & 729 A 513 216 216,
— Rt At | BEXE R5 | Rl |/\RETREEHRME MR ERICET AHEIEEE1/I) 0 10,853 10,853 10,853




THOFE B RFHHNFI S REREZ (S

(B IR —FEBESE LA RE
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(BAGL: FM)
£EHES s | TR wstmmm FREGE HEERE 5 HEEE 54 mir marE | sEnsE | wena | SOTH

IRLF—5RFRIRE At | HHEB R4 R8 [BhATHMRIBHBIHRBHMEE HBHRHRREE1/3) AR 140 [t/B 347,925 0 347,925 347,925
IRLX— KRR RE At | HHER R4 R8 |FEERAEMIEMRS ERNBRFRREE0/3) ZHBEEIE 44 |t/16h 542,420 0 542,420 542,420
IRLF—5RFRIRE Xt | E#ER R5 RO |EFTH HEHBHRHRREE1/3) AR 78 |t/H 265,466 0 265,466 265,466
IR —x RAFRIRE ALt | HARE R1 R7 |#EAm ERMBRFRREE0/3) C A BEAIEEY 237 |t/H 914,221 32,720 946,941 946,941
IRLF—5RFRIRE At | BHER R2 R7 |&WLzEm HBHRHRREE1/3) AR 450 [t/B 1,534,701 0 1,534,701 1,534,701
IR —xt RAFRIRE At | BER R2 R8 | LR ERNBRFRREE0/3) A BEAIEEY 300 |t/H 304,333 0 304,333 304,333
IRLF—5REFRIRE At | BHEE R2 R8 |{RZHET HBMHRFRREE0/3) CHIEREER 45 |t/A8 368,701 0 368,701 368,701
IR —xt RAFRIRE ALt | HRNE | R2 R8 |5l RETEASHT RIS ERNBRFRREE0/3) C A BEAIEEY 105 t/H 220,359 0 220,359 220,359
IRLF—RREFRRET At | KEER R4 RO |&HE™ ERNBRFRREE0/3) C A BEA GRS 192 [t/H 458,215 0 458,215 458,215
IR —xt RAFRIRE At | EER R6 | R |FERZATHREHES IAJLX—EIRE B MR R (1/3) ZHBEEIE 53 [t/H 285,056 0 285,056 285,056/
IRLF—5REFRIRE *t | ®RE R4 R8 |#kHTh HBMHRFRREE0/3) CHIEREER 63 |t/H 1,233,352 0 1,233,352 1,233,352
IRLF—5RFRIRE *t | =RR R5 | RI0 |&FZ-EFBEBBMEE IHILF—EREBEEMINIE (1 /3) AR 120 |t/B 18,913 0 18,913 18,913
IR —xt RAFRIRE AL | FBILE | R3 R7 | AR R T IHRILF—EUREBEEYMIEER(1/3) C HBEENME R 23 [t/16h 812,056 0 812,056 812,056
IRLF—5 SRR RE At | EBR R4 RS |FRLEBREEHRMEE IHILF—EREBEEMINIE (1 /3) CHREME IR 42 |t/R 1,228,040 0 1,228,040 1,228,040
IRLF—5RFRIRE Xt | BRR R2 R6 |F&ET HEHBHRHRREE1/3) AR 200 (t/H 169,894 0 169,894 169,894
IRLF—xt AR RE At | EER R1 R6 | K{EHET IHILF—EIREBEEMINIE (1 /3) ZHBEENAE 172 |v/8 1,247,310 0 1,247,310 1593425
IRLX—5 KRR RE At | BER R1 R6 | K{TET IRILF—EUREBEEYNIREER(1/2) CHIEREER 172 |t/8 346,115 0 346,115
IRLF—5RFRIRE Xt | RER R2 R6 |{£ < HT HEHBHRHRREE1/3) AR 36 |t/8h 446,894 0 446,894 446,894
IRLF—5REFRIRE At | BEARR R4 R8 |HEART HBWBHRREEV0/3) ZHBEEIE 600 |t/H 662,231 0 662,231 662,231
IRLF—R R RE At | BEAXRE R2 R7 |HHALETREHES HBHRHRREE1/3) AR 50 |t/H 492,687 0 492,687 492,687
IRLF—5RFRIRE At | KPR R5 R |Fk-BH-BRLEEHHEES |THILX—EIREEZEMDEHER0/3) AR 96 |t/H 1,247,667 0 1,247,667 1,247,667
THRILE—RAFBIRE At | ERER | R2 R6 |REBEKIRFEEEMES HBWRmRREE0/3) ZHBEEIE 80 |t/H 197,155 10,922 208,077 208,077




